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(1) 0.03 (2) 1.05 (3) 8.08 (4) 3.5

+ 1.2 — 0.5 + 0.99 - 1.25
0.55 9.07 2.25

(5) 0.8 (6) 1 (7) 0.07 (8) 10.01
+ 2.68 — 0.05 + 0.03 — 5.5
3.48 0.95 0.1 4 .51
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11.1 5.55 10.01 2.251

©#FIZ®ch @ misonya.com




AFEE (BRI 1we-2 g 109

FRE
T fH Al 50 =

"m, (& 7100cm, 2 &, 253 (50cm, (atlio m
L322, "T50cm; ET0.5m 2R3 &R

L3y <X & o7t

BH X7PxBh

() ICABYME. METEZS imos)

(1) 1cm= m (2) 75cm=| 0.75 | m

(3 5mm=| 0.5 |cm (4) 5mm= | 0.005 |m

(5) 248dL=| 24.8 |L 6) 515mL=| 0.515| L
(7) 305dL=| 30.5|L (8) 840mL= 8.4 dL
(9) 36 7#=| 0.6 |HHE (1) 15 =1 0.25 | B
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(1) 72cm+105cm+15cm+20cm3mm=
m+|1.05|m+|0.15 |m+| 0.203 [m=| 2.123 |m

(2) 350g+70g+407g+3g=
0.35 [kg+|0.07 |kg+ | 0.407 |kg+ | 0.003 |kg=| 0.83 |ksg
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(1) 1.01+0.2= (2) 3.15+0.02=3.17 (3) 0.54+7.36=7.86

(4) 4.6+2.06=6.66 (5) 2.3+0.45=2.75 (6) 9.2+1.8=11
(7) 5.34+1.024=6.364 (8) 62.7+2.05=64.75

(9) 4.538+1.007=5.545 (10) 5.706+7.638=13.344
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A 30.2+6.7+11.3—(2.5+2.5)=43.2 sz 43.2cm
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0.1+1.2+0.3=1.6
+ 2—1.6=0.4 4x6=24 %z 245
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(1) 1.54—0.72= (2) 0.63—0.08=0.55 (3) 2.05—0.66=1.39

(4) 6.3—3.05=2.25 (5) 3.3—1.85=1.45 (6) 10.4—0.77=9.63
(7) 6.374—4.152=2.222 (8) 31.3—3.13=28.17

(9) 1.163—0.405=0.758 (10) 56—42.194=13.806

EX)

O 2 4kmomEgEYS Y LTOET . S 28— rLTHB0.75kmdD
EZATT.OZWIE. BEAKMTTH (52

x 2.4—0.75=1.65 sz 1.65Kkm

ZoD(Cwd

€) SOLOFADBYUELE. ZDIBNBHENE—EEBDIEL.
A BLARETRALE. DTN TLICRYELE.,

El el e)

RE—EI BRIk FILTLAD (55

# 30—4.8—2.7=22.5 sz 22.5L

zLhlw>

O 2<0EB328.2kgTT. BREARKEFLENBA0.3kgEL T BIHBPAIR

zWlws

BREALIB2.1kgB\TT . BB ADKRERFKgTT H

# 40.3—32.1=8.2 28.2+8.2=36.4 %3 36.4ksg
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